[ — —)
EXC=XX
@R PKK
— )]
|
gD min—max

FOR THE CABLE DIAMETER
TYPE (xx)o0 mn-ma., A | B | C |E H M WEIGHT
EMELEC-FXC-01| ¢30-40 | 80 100 20| 320 qr.
EMELEC-FXC-02| #40-50 | 90 | 110 125 M8x110 | 390 gr.
EMELEC-FXC-03| #50-60 | 100 | 120 12-22| 45| 30 420 qr.
EMELEC-FXC-04 ¢60-70 |110 |130 £M10x130 540 qr.
EMELEC—FXC-05| #70-80 | 120 | 140 40 570 qr.
EMELEC-FXC-06| #80-90 /136 | 166 45| 870 qr.
EMELEC-FXC-07| #90-100 | 146 | 176 |50 M12x150) 890 gr.
EMELEC—FXC-08| #100-110| 156 | 186 16—26|60 | 55 930 gr.
EMELEC—FXC-09| #110-120 | 166 | 196 ﬂM12x170 950 gr.
EMELEC—FXC-10| #120-130|176 | 206 65 980 gr. b
EMELEC-FXC-11 | #130-140|196 | 226 18-28 90£M16x185 2.750 gr.
EMELEC-FXC-12 | 8140150 | 206 | 236 80 2850 gr.| ¢

LIST OF MAIN PARTS B
Item [Name of parts Materials Qty. A

1 |UPPER & LOWER PART (SAME) ALB~SiMn10 2| |Rev.| Date | Drawn| Check | Apprv.

2 |PROTECTION EPDM RUBBER 2

3 |SCREW Galvanized—STEEL | 2 CABLE FIXING CLAMP 10.01 .07 Rev. 0

4 |HEX NUT Galvanized—STEEL | 6 SINGLE TYPE

5 |WASHER Galvanized—STEEL | 6 Drawn :{10.01.2010/F.C.

6 | SPRING WASHER Galvanized—STEEL | 4 EMELEC'FXC Approved :(10.01.2010/ S.E.

P: 1300 780 831 E: info@cablegrid.com.au W: www.cablegrid.com.au



